EE 475 Quiz #14
Name:





1. Suppose systemI’s gc is 10 times systemII’s while both have 45 deg PM. Use A) about the same as, B) about 10 times, C) about 1/10, or D) unknown, to compare the following:
a. systemI’s closed-loop BW is 


  systemII’s BW.

b. systemI’s resonance frequency r is 


  systemII’s r.

c. systemI’s resonance peak Mr is 


  systemII’s Mr.

d. systemI’s phase crossover freq pc is 


  systemII’s pc.

e. systemI’s tr is 


  systemII’s tr.

f. systemI’s settling time is 


  systemII’s settling time.

g. systemI’s oscillation frequency d is 


  systemII’s d.

h. systemI’s percentage overshoot Mp is 


  systemII’s Mp.

2. The open-loop phase margin in degrees PM and the closed loop step response percentage overshoot Mp are related by:



. (write a simple equation here)
3. An approximate formulae relating gcd to n and closed-loop bandwidth BW is given by: gcd ( 
        n ( 
BWput a number in each space.)
